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Graphical Analysis Review

1) On any question with a graph when not sure how to proceed you should:

find +the slope

2) Find the velocity on the graph

H--Hd--t--t--F--F--

=

3) Find the velocity of the object in the graph below at 2.0 seconds  ( INStadtaaneous V&’OCI"'\:,)

——H-—Hd--—t--t--F--F--

——A-——AdA--t+--+t--Fr--rFf-r--

Time (s)
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4) Find the acceleration on the graph below and the distance travelled.
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5) Describe what the object is doing between each point on the graph, include direction

Time (s)

6) State what the object is doing between each point on the graph
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7) What is the initial velocity in the previous graph?¢

S m/s

8) On the following graph determine the spring constant include a unit calculation. Why is the x

intercept not zero?
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even when” not stre

a._under the graph.

Distance (m

t 2ero because +he spring has a length

sn'

The x-int

9) What is the work done in the graph below?
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10) On a graph of Ff VS. Fn what physical quantity does the slope represente What are its unitse

Work

Distance (m)

represents the (coefficient of frickon)

I+ has ho unity

“The slope
(M) .



